daga Cilayles
Ve (£0) Glaia¥) dnd S Al s -
Asdia (YA) glaied) dul S Ciladea e -
(il gise g8 (platia¥) A S Ciladia de (e g AL a5 e ST -
(etebu EM) LAY (e -
A d (V) JLasd A s -
s Agling lagladl) 038 T8, il (g 30
ALY e canl Wi 8y ALY Aadia o el Al S dadia b6l gas 12 el ]
Ala) 8 o2l U8 s 4 S8y ) sudl 158
J) 3 S (e hath Ban) g didy AlaY) qgthaall g ¢ pliadll daa e ALY
AL e alasiad aae g ocila gyl 3 b )l AR 5 ¢ AU (55 Y1 Calall Al aaai
dalud Zalal Alla 8 ad daiaddll dal ) 8 caafedllaal ali WU elils) vie
Go SSLelilal o 5 ¢ Ll 3 GY) pe 53 gusall s 8 AlaY) IS ) (S g A
L 5 g dls)
rJGa

. k8 (B) 4l (A) oo el 4laal) AdE) Ay e dlils) vie
rda g o) ala e JLEAY) Al oo dlida) aie

) e JST SIS Sl Asmnall BlaY) e Il el il s ial Jiks
Sia (C) Aasanall LlaY) 1Jle

; dagaiall Aay)

Annia Gy cuat daana Ala) Cual y Gl cudd (et Ula) Cunl 1Y Lo dlls -
Lot Ay ot Ut Ala) cual 5 daills cudd o ¢ danica Ala) conl 1Y Lo Alls 85 -
s A sala
A gl ey e S8 Ao JUAT 5 1Y) (Adaia G JLEAYY) A gidagall ALY A B
Aad Alay) e ¢ laY) S

wyjailleig o




Answer the following Questions:

1- Choose one sentence (A) or (B) and
answer it:

a- “Jerboas do not touch water all their life”
Explain how they obtain the necessary
water for their life.

b- “When the temperature becomes unsuitable
in the medium where the organism lives, it
goes to dormancy” Explain that in cases
of bacteria, and molluscs.

3 2,53?‘ Al e g‘«:’-;

s () 91 (1) ot gudt Ao st -\
Al eledl Cpas ¥ adlydh
Gl Juand a8 mby ik

UG Lt p 3 £ Lot
2 B35l A )y el Leiey —o
Giay S dawgll (B Al
Ay aild ot (ISI 4
P { PR SET | LY PP RPN |
~COilags 31 g by mciSd

2- Choose one question of (A) or (B) and

1@ (@) 91 (1) ottt guadt s isnt - Y

Justify: U
a- Volcanic igneous rocks are characterized | &olS od Ll jgsvall jua -
by glassy texture. o) g
b- Gabbro is considered the plutonic | G29at! GRSt g plntt yGas -0
equivalent of basalt rock. NUA 51 WL [ |

\
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3- Choose one question of (A) or (B) and
answer:

a- What do you conclude from the presence
of marine fossils in rocks located in high
places above sea level?

b- What would happen due to the rotational
convection current in the upper layer of the
mantle?

(@) 91 (1) Cotht3miadt | piin - ¥
gl @

Obyyas 3929 (o zddud Iale -
sgie oSl 3 i Afils
S pdl plaw 392 dadli je

SHLG A8y Al Grdo f3le —U
Gdall A Adlyddl Jest
Srkiigl (po Llat

4- Replace the following sentence with a
scientific term:

bending of rocks of the Earth’s crust in

response to pressure forces.

3)lsall alall ella aelt LTS -§
AGY

Upido Y1 5yl jgimial Gitomy ani)

cidadids (98T Lgud pad Am i

5- Choose the correct answer:

1 donowall Aol ) -0

organisms that represent the guard of nature in | ;2 ascdatf uols Jied S SLSISI

any ecosystem is.....

producers.
herbivores.
carnivores

decomposers.

®0eE

...... o o plIS (g
Aottt (D
cazati st (D)
psmticysi
Attt olsiss ()
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6- Explain why: 1o Lot yuaid -1
coal is replaced by natural gas in the daily | it s acdati jlath g f3Let
uses. Sin gud| Slalidiw ¥

7- Study the given figure and answer: ri b Lo i (@ YL ST (gupal =V

a- What do you see in this figure? §USA ! 1aa Jian f3ke |
b- What are geologic processes responsible | cai ,itf i ot gondt Sldaati Lo —o
for their formation? § diy gt

v
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8- Compare between:

: O 8 -A

Orthorhombic system
P [ PPOR [N TN |

Triclinic system
Juad | SIS allad

Crystal axes
Aghd! Hgloed! | o

Crystal angles
dyeldl lﬁ PBS L R [e.

9- Illustrate the importance of:

a- Index fossil.
b- Richter’s scale.

¢
1(v0 JS Aredl HS30 -9
Bl podl Ayt -
Sy pulide o
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10- Choose one question of (A) or (B) and
write what would happen if
a- Evaporation of water from closed, semi-
closed lakes or in the coastal sabkhas?
b- Sandstones come in contact with magma?

rudg @ () 9 (1) Gt pudt i Sl 240
tubie S 1310

ol Wgdde Ol pou (po obeadl 3G -
i L 1 Ol | 8 ol W gade dcd
AT Ao, ygial) dueSe —u

ugall (o

11- The sentence which complete the table is:

ot Los Aol Al W1 ST5 1 -1 |

Gold caui Kaolinite cotid glst Feldspar jLetar

Metallic luster g3 3o | Earthy luster oyigam | 00 o

Used in making ceramic.
Has pearly luster.

One of granite minerals.

®0ee

Chemicaly decomposed to kaolinite.

12- Replace the following sentence with
suitable scientific term:

Decomposition of rocks under the influence

of rains with dissolved carbon dioxide.

REYFRIP T S FO ()

I Ena @
i ynl) W gSall slaall ini (D)
®

i IS palaed LoilaesS oy

e J1A Galalt allamel| LS| -\ Y
13 ylatl o

Slae¥ L8l cond gsall S,
089 )SI ST (L Alaswed |
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13- Mention the importance of: 1 dcadl ,S3I =Y
The roots that extend horizontally under the | plaw cons Ladl el il giand |

soil surface in desert environment. g g pomucal| A B Ayt
14- Justify: b Let Je -0 ¢
The geologic time scale does not exist | Saels o 3T gund| @ugdil) i gy ¥
complete in one place. g GlSe B

15- Mention the mineral name which is | 4de Ju5 gl Giaed) gl ;S350 -1 0
indicated by: s AGY 5l

Mineral in Mohs’ scale that is not scratched | isussy yatan asass ¥ gat Gusetty
by finger nail but can be scratched by copper o oubeict 8 Aol gl
coin.

wwyjailledg o



16- Choose one question of (A) or (B) and

compare between:

a- organic fertilizers and chemical fertilizers

(in terms of their effect).

b- grazing in weed areas & grazing in shrubs

and trees areas

(@) 9F (1) ottt gmiadt s § i =1
10kt (LD 1 @2

sew¥! ( digiaall daewd! -
(ol cua (re) Adilieust)

oo olaa Y Gblie L8 e Il -o
.,L;;aartjatwt@:amgg
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@ Elalel (AT JSAM (puya) =\ V

17- Study the given figure and answer the

following questions:

II
ITTH1

X k}u

| S(Y) JSad | Fias 3o —

b- What does no (2) represent?

| §(1) ISt Jian tole

c- What does no (3) represent?

ShLS e adald) gaall g40 Lo -
Ao 9ot ) ot |

d- What is the type of the force above the
convection currents in the figure?

wwyjailledg o



18- Study the given figure and answer the
following questions:

| @ (Jalialt JSEI (quyal =\ A
z;\.u:?‘ pym gl e

eiements,
& metals

a- What does no (1) represent in the marine
ecosystem?

Al LB (V) @By Jhes I3le -l
56)"-.‘-"4;—“-.‘-.‘-”

b- What are the characteristics of no. (3) in
the desert ecosystem?

‘_,5 (\') pé) SLAIS ‘n.u:ﬁ |3L¢:1 )
eéj‘):ua“?wﬁ

19- Choose one question of (A) or (B) and | (<) of (1) st dsi yin0 214

define: 1 ye @

a- Tropism. sl ¥

b- Photoperiodism. RETRRIEETII
0‘



20- Choose one question of (A) or (B) and
justify:
a- Hardness property used to distinguish
natural precious gemstones.
b- Oil is not classified as a mineral.

1@ (@) 9f (1) 13t A § yX50 =Y o
e

e (58 a5 el Ao s
ncaal g I o ¥
COalaad! (e ot W Jg il -0

21- Choose one question of (A) or (B) and
write what would happen when:
a- Volcanic eruption gets in course of old
River and increase its slope.
b- The granite rock is subjected to chemical
weathering?

(@) 91 (1) O a—ud ) A § yi5n) - ¥
tladie Crtoms 13Le il g @33
A0S o Ol gals JgSI ,gidl oy -
201y Hlasd| (pe 35
A gild Coal ) pmio o pai U
cAdleastt

22- Choose the correct answer:
Cryptozoic is the name of:

Unknown life eon.
Known life eon.

Human appearance period.

®0eE

Giant reptiles dominance period.

\e

43 aat a3 180bew e

VAGYY 5 yliald Aol dgla 1 S5 YT
........ e Gllay mul (59 5 ySI !
i glaadiBLmt! yas

O®OO
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23- Replace the following statement with a

suitable scientific term:

Equilibrium state between the mountain
chains with the surrounding depressions and

plains.

1A Let elalt mllaiaelf COSY -YY
Juwda (o O)led!
Jaew (o Lajgloy bs e Jlentl

Olaasiag

o Wl

24- Explain:

A great proportion of the energy is lost in the

marine food chains.

1ok Lo pud -YE
o ABUAY! (0 5 5S Ao Hla] @

g e | £ 108 s S

25- Depending on your study to rock cycle,

complete the following diagram:

593 (-8 diwiyd L (e sl -Yo

s JSE 148 DLy JoST yg5ualt

Heat + Erosion +
Consolidation pressure deposition Sedimentary
magma = > 2 >
rocks
Loz ] 3yl + dakid oyl + Ay yad AR gy y95ua
\
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26- How do you recognize the transported | i df e il dlises oS =¥

soil? Ty
27- Mention four bad effects of over-cutting 1S3 =YY
forest trees. padll Acdud HBY e Ayl
BIETLIPER]
\Y
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28- Choose one question of (A) or (B) and | : (<) oi (1) (ud1audt i sl -YA

write the results of: 1 ohe A yial | ZILE Lo
a- Moving opal mineral in front of human | (e alel JLo¥I Gaas vl
eyes in different directions. P PIVESN [ICAVY S £ (g W ]
b- Expos.ing quartz mineral to high energy | sauar 35,1588 ane o, —u
radiations. Aadle delasl
29- Choose the correct answer: l + Aovovall dala ¥l i -Y4
The river capture phenomenon characterizes | ,aigtatl yo HJLg3¥ ,ui 5,2l
the ......... Stage. -« M T*T W | - \TL. PIPGUN S SOPON{

Youth River. 1 I Gl
Mature River. | g gual
Old River. ’ ) A gl

®OeE
OOWOO

Rejunevated river. NPV { O P

\Y
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30- Explain this sentence: TR N (PRVY VTR
“If a person wants to dive into the sea water | ,oud! L2 o gas OF OLaaF! 151 131
to a depth of 110 meter this is impossible t0 | «lts ade jia a3ld AV Ve Goe I
endure without the diving equipments”. coularll jawmie jlgx g

31- Replace the following sentence with a | : 3L Lt Lelalt zllacastt CGSY -Y)

suitable scientific term: a0y law (pe Lelall Az dall 2ty
Removal of the upper layer of the soil to use Calall Aeli L5 Lgelusiuy
it in brick manufacturing. )

32- Interpret: 1 oud Y'Y
The formation of marine cliffs - PPOS [T PPN {

1¢
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33- Choose the correct answer: —Ciay AGY JISEH e G-V
Differential erosion is shown s 1 T R B
by figures .......... :

)

1 &2
1&3
2&3
2&4

®0eE

34- Study the following figure and answer: | : 3l Lee conf @ L JSEH (uyal -Y'E

a- Mention the structures shown in the figure. | -t 535> gadf oSl 581 S50 -

b- Interpret the feature separating the two | J-wa: @i oS, 01 1l -G
rock units. - Sladal e game

\0
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35- Mention:

Shapes of the extruded igneous rocks.

zJSM -Yo

ol A6IS 4 31 gial! SIS

36- Compare between:

1O &)‘3 I o

Tectonic earthquakes
40 ST JHY 5N

Volcanic earthquakes

2O 1 JHX30

AN
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37- Choose one question of (A) or (B) and | :a3 (<) 5i (1) ot aadt di pisnt -vy

justify: e

a- Formation of Grand Canyon. PV [FPRER- ( EA R

b- Presence of similar old fossils at the | ole agslicio hoayid pdlalagsy o
opposite edges of continents although they | pé L aLlaiad) Silall aig
are separated by ocean . Legin daioms 3929 (yo

38- Replace the following sentence with a | L L elall pllacelt CGSI-YA

suitable Scientific term: oo Bhomtt Ad uagi AT Gl

The area where life exists on the Earth. o2 ¥ o

39- What is the result of: 1 (s iy 13Le -Y4

Occurrence of two normal faults sharing the | L& ols lacy (sle (uatla & gus

same hanging wall. (S pall dallond | g (uid
Y
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40- Choose the correct answer: 1 Aovonall dala Wi JT5) -8 o
The arrival order of seismic waves to the [adi 31 Olsgadl Jowy cub,S
seismograph isv#38=" __— . 7z g VSR A 64
@ Surface, primary then secondary. gl @5 Ad ¥ o3 Aedal @
@ Surface, Secondary then primary. A g¥ @5 W gl @ dtacal | @
@ Primary, Secondary then surface. Juobad| @ 40 gl @3 2 oY @
@ Secondary, Primary then surface. Suodaud| @ 4t g ¥ @3 A gLt @

41- Replace the following sentence with a | : Lle JIu elal mllamal| CGSH - £ )

suitable scientific term: R e o e
Solid bo.dy. cl?al.racterized by arrangement of Lulite Lalatis Lo )3 yenlial!
atoms within it in orderly arrangement.

42- Mention: s 5S3) - Y

Two ways to solve the problem of spreading | . a1, qatcas 31 aiss o £ 5Mat (piibeug
urbanization.

A
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43- Choose one question of (A) or (B) and
write a short notes on:

a- Therole of water in mechanical weathering.

b- Alluvial cone.

(@) 91 (1) e gt | pisn) - €Y
100 B pualiine B0 CUS) @3
VBSOSl 2y gt | B oleal | Hga -]

.M‘bj)&.ﬂ -

44- Mention the differences and similarities

2Ol LN g Al A gl Lo - £ ¢

between:
Conglomerate & yoe gl o531 Sandstone e y1 o
Similarities
Altt Ao i
differences
MY
\a

wjailleig o




45- Illustrate the relation between: 1) ABDlal) g - £ 0
Sun light and animal’s activity s ot | B2 5 it 1= I,

Yo
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